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Answer any Five (Juestions
Al Doestions Carry Equsl Marks

Il=? Explain abowi the varous types of sysioms calls uwsed in O5.

[15]
Explain about Operating s ysiem.
Explain the O35 [&+T]
Consider Five proces 5 rod st same time. They have estimated runming time
10,268 and 4 seconds (sl | pricnties are 3.2 5 4 and | respectively with 3
bezing highest pricmty. F tum arcamd time and avernge warting time for
Roumnd Fobin|g=3%) and preority’ g algorithm. [15]
What = Semaphaore? Give the implememat of producer-<consumer problem wsing
Semaphare. [15]
Explain the concept of segmentation for BEEEIMEL
Explain the steps involeed for handling the page fam [E+T7]

fra greemtation.
Explain about the strocture of Page Table. . [E+T7]

Consider the following disk queen with requests for L0 ™ iy, cvlineders
OE IR FT. 022, 14,124 65,67 in that crder, using FCFS, SCAN alpon # izk hesd

is initially =1 cylinder 53, find the ol head movement in oylinders. ¥ prow
neceszary diagram to show the head movensent for the above queus.

What is fmgmentation? Explain the difference ?‘lmmu] and extemal

What do you mean by deadlock avoedance? Explam the vse of Banker's alpn
deadiock avosdance with ilklustration.
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e Max. Marks: 75

tion paper condains Pao parts A amd B
lsory which camies 25 marks. Answer all questions in Part A
ists of 5 Unslx. Answer any ooe full guestion from each umit.

Eaxch slzon I} marks and may have a. b as sub quesizons
FART - A
(25 Mlarks)
L.a) Defime Operaling ixl the chjectives of Operating System. 2]

b Mlustrate aboat d and dirivers. [3]
cl What are the disadva paphare. 2]
) What 15 a cnbcal sectich

‘& agple. |3
@ mlakion 2]
vl kol ion techmigques. 13]

el Compare inlernal amd ex
5

i Explamm first, best fit
4] Deline the ferms seck zme and rombio

hif What are the varnous file scoessing met [3]
1] Explain safe, unsafe and deadlock siatb [Z]
i¥ What are the conditions usesd m Banker's m? [3]

b What are the functionalities of Operating SystemsT Ex etal [5+5]
¥R
3.a) Explamn features of [Mstributed Operaling Sysbem.
bl What are the vanous componenis of Operaling System struct
byvered approach of Opermting System in detasl

d.aj Explam FIFD and Round Robban CPU  scheduling algomtbim. Why dios W:Z@

PART - B '\
(50 Nlarks)
2.a) Explamn diffierent categones of system calls with s € le.
i d

] With a neat sketch explamm process siate diagramm. 5]
¥R
5.a) What are the critena for evaluating the CPU scheduling algonthm™
7] What is a processT Explain Frooess Control Block. [5+
Y] What is virtual memory? Discuss the bencfits of virtual memory lechniques.
b} What are the disadvantages of single conbguouas memory allocation? Explain. [5+5]
¥R

T.a) Consider the following page reforence string
1,234215621,2376321.236
Determme bow many page fauls would ocouar for Optimal page replacement algorithm.
Aszume three frames are imitially empty.
by Dhsouss: the procedure for page fault o demand pagimg. [5+5]



Code No: 134BU

JAWAHARLAL NEHRU TECHNOLOGICAL UNIVERSITY HYDERABAD
J E inations, December - 2018

B.Tech Il Year II S
OPERATING SYSTEMS
(Common to CSE, IT)
‘} Max. Marks: 75

qucsuon paper contains two parts A and B.
compulsory whach cames 25 marks. Answer all questions in Part A,
ists of 5 Umits. Answer any one full question from cach unst. Each question

cam and may have a, b, ¢ as sub questsons.
PART- A
(25 Marks)
la)  Explun the fud Rerating sysiem. 12]
b)  Explain about t &t view of the components of a computer system. 3]
c) Dstinguish betwee Indggrocess and CPU bound process. 2]
d)  What are the requ pl section problem? 3]
e}  What 1s Demand Pagmg 2]
f)  Dstinguish between logacal address space. 3]
g)  Explinabout the Acyclic g . (2]
h)  Explain about the Solid state disk™ 3]
1) What s Access Control? 2]
3)  Explain how 1o climinate the deadlocks preemption. [3]
PART-B
(50 Marks)
2 Explain how operating systems are used in a vanety of%un environments. [10]
OR
3.a)  What 1s operating system? Explain multiprogrammang a ng systems.

b)  Explain about the dual mode operation in OS wath a neat bl 1??
4.a) Explaun about the Process Control Block
b)  What is Semaphore? How can we achieve the synchronmzation
producer consumer problem? '5|
OR
S.a)  Dscuss the Peterson’s solution for the race condstson with algonithm.
b) What = the average wailing ime and average tumn around times of all pmc 3
FCFS, SJF algonthm?
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L) Cormpare proteciion and secursty m detaal.
b} Explam Tume sharcd Opomting Sysiom. | T+E]

Xajh What = a crixcal section problem? Dhscuss about the condibions that a solutson to the
critical sectyon must satisfy.

bl What are the advanizpes of Inlker Process Commumication” How communication lakes
place m shared memory environmeni. | 7+E]

Ja) Write about LEL page replscement algomtbim and all its vamamis with an example.

b} Fizcus= m detxil about various papge @ble struschmes. |B+T]
4l M=cuss the followmg: (1) Contiguous (1) Linked file allocation methods.

by Fizouss the followmg: (1) FCFS (i) 25TF disk scheduling schemes. | 7+E]
S Explam the techniques used o prevent the deadlock.

b} Explam how o recover the system from deadlock . | 7+E]
Y] Drefine Mulbicasting. [Mscuss the varnous functionalities of Opermbing Systems.

b} Drzcuss UNIX opermling syslem structure. | T+E]
7 What 1= Dimng Philosophers problem™ Dscuss the solution to the DFrnang Plnlosophers

prablemn usang monmors. [1=]

Ha) Consider a reference sinng

T2 030.4230.32 1 20,1701
For a memory with three frames. Trace by applymg the FIFD and LR page roplacoment
algorithm.
b} What do vou meant by thrashang? Suggest solutions o overcomee this m virtual memory.
[B+T]
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